Groundwater Hydrology

2004 9

I = = Bl

I = = Bl

9.1
9.1 9.1.1
9.2 Groundwater regime
9.2.1
9.2.2
9.2.3
9.2.4 ( )
23 9.1.2
9.3.1 o
9.3.2 Groundwater balance, budget
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Ground water budget is an estimate of water resources usually
9.3.4 p - R
applied to a groundwater basin or province. Recharge, storage and
9.3.5 discharge are important factors in it. Also known as groundwater
balance. (Ground water)
N H = Bl N H = B
9.1 9.1
913 9.14
@
@
(©))

I = = BN

I = = BN




9.2

9.1
9.2.1
/
KN 1 RN EN ED N
92 9.2
922 ?
LU
1 i
I---- @m
Kemmm /)
. @
—
t—— @
KN 1 RN EN ED N
> 9.2
s 9.2.3
4
=

g
‘)
il
E




9.2 9.2
" bbb adn
= _} B |
i ¥
: "_ _J,b,..- .-1:L|,..__-..._.J.i|.|..__
I = El I = El
9.2 9.2
9.2.4
: bbb adn
= _} B |
fl £ Y
: "_ _J,b,..- .-1:L|,..__-..._.J.i|.|..__
I = El I = El
9.3 93
9.3.1

Water balance is the balance in a hydrologic system
between precipitation or other inputs, and the outflow of

balance area

positive balance

water by runoff evaporation,
recharge, and stream flow.

balance period

transpiration, groundwater
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equation of water balance 9.32 -—- 1
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equation of groundwater balance Ry AW G Z2
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di: Qgrl +Qgrz
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